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SECTION A (40 marks}

Answer all questions in this section in the spaces provided.

(@)  Statethe meaning of the term disk defragmentation as used in computers. (1 mark)
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(6)  State the purpose of disk defragmentation. _ ' (1 mark)
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Identify the appropriate computer output device suitable for each of the following tasks:

(a) generating receipts where carbon copies are required; ' (1 mark)
(5) anarchitectural drawing where precision is required; (1 mark)
(¢c)  producing document output for a visually impaired person. | © (1 mark)
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Pesa Tele Cbmpany has offices in Nairobi and Kampala connected in a network The
management is convinced that someone is illegally gaining access to the data in their

'_ computers. State three ways in which the company can overcome this problem. {3 marks)
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Explain two ways in which the use of Internet could make reporting of corruption easier.
: (4 marks)
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State two ways in which software errors canbe prevented in program development. (2 marks)
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Convert each of the following binary numbers to decimal equivalent given that the left most
digit is a sign bit: '

(a) 00101101 : (2 marks)
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(2 marks)
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7. State the funciions of each of the following keys on the computer keyboard: (2 marks)
@  backspace; |
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8. Anorganisation intends to replace an existing system by carrying out the process in stages.

(a)  Name this implemchtation Strategy; (1 mark)
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Students of a school intend to elect their school captain by secret ballot. State three ways in
which computers can be used to improve the election process. (3 marks)
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Explain why an intranet is a more secure way to share files within an organisation compared to
the Internet. _ 7 , (2 marks)
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List two career oppoi-tmﬁ_tiés directly associated with computer networking. (2 marks)
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Distinguish between 4 Jormula and a finction as used in spreadsheets. (2 marks)
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14. T‘he C directory of a computer has folders named Form 1, Form 2, Form 3 and Form 4. Each
class has students’ folders named according to their admission number. The students created
their own folder for subjects they are studying based on the table shown below:

Form 1 Form?2 | Form3 Form 4
o8 SP Prog. | ADB

WP DTP Internet
DB

(@) A form four student intends to creaie a folder named proj to store project documents.
State the path for the project folder. (1 mark)
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(b)  Suggest how the student can ensure that:

(i)  work is not lost in case the hard disk fails; (1 mark)

(i)  the project is net copied by other students. ; ' (1 mark)
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15. A water company sends out clerks to read meters. The data collected by the clerks is then fed
into the computet and then all bills are printed at the same time. '

(a) State two advantages of this approach; (2 marks)

(b)  Name this type of data processing. . (1 mark)



16.

- SECTION B (60 marks)

Answer question 16 and any other three guestions from this section in the spaces provided.

Figure 1 shows a flowchart. Use it to answer the questions that follow.

Power 10 |

N=N+1 }

Figure 1

Tuarn over



(@) Interpret the flowchart. : {9 marks)
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(6 marks)
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With the aid of a diagram, describe the Hierarchical Database Model. {4 ma1
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List three factors that should be considered when developing a database application and
give reasons why each should be considered. (6 marks)
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(i)  Name three types of validation checks during data entry in data processing.
(3 marks)
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(i)  Differentiate between primary key and index key as used in databases. (2 marks)
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Explain two health issues that could arise from the use of unsuitable computer desk.
' (4 marks)
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() Describe two ways in which a positive number and a negative number can be
represented in a computer, (2 marks)
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(ii)  Aparticular compﬁtér stores numbers in a single 8-bit word. Determine how the

number 0.3125,; would be represented, (3 marks)

-

R L L B rrasanang

SEEvstesEPIAsvEsatasgsnnan

tassrranan

astresraviay

S rsisrmncarrsby

rrssavsey LR T T T P e

kusssnsavee

siase

PEssswnssany

racrvine

segania

LEE P

meursssesens

B A A T R S R L T P

II.nttlllaaoco--s-vp'.ooiv-t-'--v..!ltt‘!lakli-l--n--llrl-litr--loc- bbb bt S L T e P ot SR,

A manager wishes to replace the current manual system with a computerised one.
Describe three main areas that must be evaluated to justify the replacement, (6 marks)
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R T I T
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19. (@) Figure 2 shows a block diagram of a computer system and its peripheral devices. Use it
and answer the questions that follow,

.

- MONITOR
NIC HDD

Lo

. SPEAKER
FLOPPY DRIVE
T . RAM

nd>

ROM

- ] MOUSE
— [ 1 |
] CD DRIVE . PRINTER SCANNER

Figure 2

()  Name two devices that may be used for storing data for a long duration. (2 marks)

uio-l-t-------ltngltsbﬁi---itncv’a'-d-:-_-ll-n-ll--Iq-.--Q|'l---‘III----lIr_cttbvnl--lO'lcaotll-----Isl-lls-l-.n‘-i--n-----.-lvun-uqntc
Ill.lval.l-.-liIlllIlI.Il!l-.vlll"'r&’a.lll-‘Illli-lll'-Illllil‘lll‘!'lillli'bl’ --------- rersssamen R L T TR T T P E ey sadren
Gi) N th ipheral devices that ed for i (3 marks)
il ame three peripheral devices are used for input.
--.----.v.uq..u"-.Ai--n--.--n'“:un-o..v-ou--u-.iono.‘ovu»ns.n---a-n.-----.-.nc."".----------u.onu.-.u-u-.a---u--.on "
-------------- 3 uu-----au-n--u--1-coun--n-.uuuu--.--------u..--a...n.u....-.---....u“.--.-u----.uuuunu--.-uu

B R P P P s Y vesitaaisaieseransetibins R Ty T T PP T T P PPy

(iif) Name two other devices that a Computer Aided Design (CAD) user might wish
to add to the set up above in order to perform his tasks effectively. (2 marks)

B e L L P T

(b) A customer wishes to purchase a computer system. The customer can buy word
processor, spreadsheet, database, and a drawing package separately or as an integrated
package. State three reasons why the customer would prefer an integrated package to
separate packages. (3 marks)

R dremasnas R L e Feraarae R L P T T T

......................................... R L T R T T P D e R P S

Turn over
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AL L LT R P ARSI resssecrnntnngy u..-.-.---u.-u-u--.".--u-.ua.-.-,- dtRabstransinn,

-

SERivessinesvendunsag,

CER LT TP

R R LA T LT T T

srEegsesasussae tebasssan A

EraEdSanssreange sasans

FEEs b swesustRrsaagy

Terssmninmps

LA T Y ¥hidssednivany

tsssssnvas e AL LT T T T T T L LR T T Y T Ao

i-ll'iatlll-lto l‘l"l."."“..lil..“‘llll.l-‘

() State the role of cach of the following data communication devices:
- L repeater; _ (1 mark)

Irdenngs

dBtdseveanannanas

terrsankrae

Asviarssecen

SEsssevesvastnaas

se

Teresuna Tertrssasnen

IL  router.

L AL T T

seans L T T T e,

REAL T T T,

[T,

trervassnias

(ii) The figure below shows a network based on the bus topology.

(1 mark)

PrEastssarenaaugs

R Py

R R T T TPoy

1L State the function of the component labelled P, (2 marks)

eIt rasssanngan tEdsansessan

“Sseasnnaun

Termasani LT T PRy R

Feessenanigs

ffrsesrsmsricremsa

R

Sefssesas

ttrrEreannnsaaas RAA AR LR D

R A L T P e,

sessnvien e KL LT T P

RALL LT TP,




2. (a)

- e

sesssssEETCsrEYTieEIsesanmbiatinassnnd

Explain three ways in which an operating system provides data security in a computer
system. (6 marks)

tuIBesEIssssEeedTNErBansYENFde

Theswees P R e

.
sutenisisimenrine

B T TP TP T

fEBscuvbrrTI e ITS

srerverrenan

YhesveassivirInane

CEYTTRS

sepsanansinsen

amsanten

4ssaan

ERTTEY

B L R

seren crbur

sasanes wnaapraa

shEnsdeverieesRasoRsRTIE

treasm Esssvsen

daanese

ssmenn

sasey

P T P L LR Y

saasmsste

sueas

AEstswedsnnnnen

BeannnEe

O e ]

sames Feevteannadenisirasrsvsasass

uviss

srsrEesans

P T e arwevundn

saswaaas

arassssBistisssassasansaERE

TErevevraL

seasvusey

Gaspisevn

somae

wEawur

savsvan

sesasssass

rhesaven

Traseen

sdaus

aErnun

sneas

whnasd

whaewss

tivisersdin

NesnuBEIITEEIRILTRS

beananns

bssssavine

tenssbensin

vivesasn

senavnva

tessesunsunaan

Pasesuvndae

resnasve

D L L R E T RT T TP

sreusue

Phrsiseessann

sEasvres

sass

@ State two instances where observation is not a viable method of gathering data
during system analysis stage. (2 marks)

sessarIintaaseas

sstsEBENEEbaTaTaRanNSE

Sedevetitnie

ammse

arzreas

rsnue

wenea

Eerarkrnarsees

crssssinuwa

srevarswnsarnase

Turn aver
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(ii)  Various considerations should be made during input design and output design in
reference to System Development Life Cycle (SDLC). State two considerations
for each case:

L Input Des;ign; (2 marks)

wEEwreEraR s AITIAAI RN L T R A e L L sssvasanssdtrsasinarrerans dsddssnrranmrananmnatany

e e R R T T

B L T e

B L L T T L Tt LTt LT T PP

. Output Design. (2 marks)

R e R T E T R e N P sEsbssamduanany

L TR T P TP TPy Wesryvesns e e LE P T TR T PE T T T P PR GekwsadhNEEBlasaRNsEEAsTsaREE A f s m AR as

L T L LT L L D T e T P T LS T X ]

R R L T T P TV TP T R P R whsevssenaanne esessnan

An institution maintains émployees' records in a database. State three benefits that the
institution may gain from this approach. (3 marks)

AR dmsssmvarnvaivivsansenny

I e P TR T T T T e, sseesss B T R S S L

R L L T T P P dssumsnms R L Ly L T T T PR PR TR Y

L T Ty T T R P T TP Fesanssenersrrraanss L T R S A A A P A Y

R T ST TR T T L] RIS ISR RNy .

........................... S igsersnanmesiraaasresusarnsrvaras
Erdsandiansamants R T R T T S L S R TN SRR P RSttt
CE L T T T L Ty sanvasn A tiema FrmbtsHastranans desancevissvin R L R R R L)
-'!!'l'!“!"'!l-IJIIA-Dl.‘&l‘lrt----io-v-aon------illqli.u-cu..q..‘-n-o -------------- Lsssasswrsunss asdraa R R R T T gy
----- T P O S PR
B T sesannesn Aarensuessdavoiernnacants rerenissaareren

........... e R

e e R T P e R R L L I T S A asnarevanvrs
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